51,

52.

53.

54.

55.

56.

1

How many Physics Professors belong to the age group 35-44?

(A) 18 (B) 16

© 14 (D) 12

Which one of the following disciplines has the highest ratio of
males to females?

(A) Physics - (B) Mathematics

(C) Chemistry (D) Economics

What percentage of all Psycholog\ Professors are females?
(A) 40% : (B) 50%

C) 60% - - (D) 70%

If the number of female Physics professors in the age group 25 -
34 equals 25% of all the Physics professors in that age group, then .
what is the number of male Physics professors in the age group
25-347

A) 2 (B) 3

C) 6 ; (D) 9

If the Psychology professors in the University constitute 2% of all
the professors in the University, then what is the number of
professors in the university?

(A) - 400 ) (B) 500

(C) 600 (D) 700

Directions for the following 5 (five) items:

Study the table given below and answer the five items that follow:

Four students W, X, Y, Z appeared in four paper, I, II, IIT and IV ina
test.

Their scores out of 100 are given below:

Papers
Students I S T v
w 60 81 45 55
X 59 43 © 51 A
Y 74 A 71 A\ P03
Z 72 76 A 4 . 68

Where 'A' stands for absent > &K
Which candidate has secured between 60-65% marks in

aggregate?

A w B X

© Y (D) Z

Who has obtained the lowest average in aggregate?
(A) W (B) X

© Y (D) Z



58.

59.

Who has ebtained the highest average in aggregate?

(A) W (B) X

<) Y (D{ Z

In which paper the lowest marks were obtained by the
candidates? )

(A) 1 . (B) 1

(C) Il : (D( IV _
Which candidate has secured the highest percentage in the papers
appeared? . '

(A) W ~ (B) X

€ Y (D) Z

Part (C) - Sample Questions of English Language
Competence Test

Set 1

Read the passage below and answer the questions that follov:
Passage 1 : :
Oak and Company
. ' — Richard Mabey
If tree families had family trees the oak would have one of the oldest and
grandest of all. There are more than 500 different species, and over the last
million years they have spread, in various shapes and forms, over most of the

- northern half of the earth. There are mountain oaks, swamp oaks, evergreen

oaks, weeping oaks, and oaks on windswept cliffs that never reach more

* than two or three fect in height. One kind in Spain has such a spongy bark that

it is used to make cork, so there are soft oaks, too. But for most of us oak
means just one kind of tree: the tough, rugged giant that has played such a
part in history and legend and been so important in the woodlands of Europe -
and North America.

Perhaps we have been unfair to other trees, but the forest oaks deserve their

" fame. They are hardy, easy-going, and not all fussy about whether they grow.

They can reach a great age-even a thousands of years, though most are cut
down long before this. Their squat trunks and twisted branches, looking like
clenched wooden muscles, can stand up to the worst kind of weather.

On top of all this, timber cut from oaks is as strong and remarkable as the
trecs themselves. It is solid and hard-wearing as good for furniture as it for
firewood. Before the days of steel and concrete it made the frames of houses
and ships. If we had to invent a new kind of timber it would be hard to think
up anything better. e

s wretelg e W



Yet it isn't just humans who find oaks the most useful of trees. Over the ages a
hunger number of animals and plants have learned to live off - and in - the
oaks. It is tempting to say that a full-grown oak is like a house but it is really
more like a city - a whole community of creatures travelling, working, cating,
sleeping, singing, and bringing up voung, on every part from the topmost
spring buds to the dead gash blasted out by a lightening flash.

Comprehension Questions 5x2=10

Choose the correct alternative.

. B

Which statement is closest to the main idea expressed in the first
paragraph? ' : e -

(A) That there are varieties of oaks

(B) Thattrees like oaks are family trees

(C) Mostpeople think that there is only one type of oak

(D) The best kind oak is found in Spain

By giving example of 2 kind of oak found in Spain, the writer -
proves-

(A) there are soft oaks .

(B) oaks canbe useful

(C) cork manufacturing industry depends on oaks

(D) our thinking of oak as a hard wood is wrong

" All the statements below aré true, except -

(A) there are varietics of oaks

(B) oaks primarily grow in Northemn part of the earth

(C) oaks have muscles like human beings : 7

(D) steelis used nowadays as building material for which oaks were used in

the past
The sentence "If we had to invent a new kind of timber it would '

be hard to think up anything better' means -
(A) We cannot invent a new kind .of timber

‘.(B) It is hard to think about a new timber

(C) TItishardto find a better timber than oak -
(D) It's time that we better think of 2 new timber than oak

Which statement best expresses the idea expressed in paragraph
4? ' ' e
(A) Animals and birds make homes in oaks

(B) Sometimes lightening strikes oaks

(C) Plants also depend on oaks .

(D) Not only human but also animals and plants find oaks useful.
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. Vocabulary Questions | _ 5x2=10
6. The closest meaning of the word "giant" in paragraph 1 is -—

(A)  legendary huge human like beings ' .

{ B) a powerful living being

€ a being who has history and legend

(D) strong and having a great size

7. The phrase "stand up to" in paragraph 2 means-
(A) Standing erect
(B) Rise to a erect position
(C) Support oneself
(D)  Be equally capable in strength and power -

8. "Bring up” in paragraph 4 means-
(A) Raise children or babies
(B)  Bring something from another place
(€)' Come closer to an object
(D)  Push something to a hi gher plane

9. The closet opposite meaning of the word "fuésy" in paragraph 2 is
(A) Selective (B) Choosy
(C) Hard to please U (D) Easy-going

10.  Which grammar class (parts of speech) the "windswept" in
paragraph 1 belo_ngs to? .

(A) Noun ‘®) Verb
(C) Adjective (D} Compound word
Syntactic Ability Question S5x2=10

Choose the correct alternative,

11. Which sentence indicates that John earned some money?'
. (A) John nearly earned $100. (B) John earned nearly $ 100.
(C) Both AandB (D)  None of the above -

12. Which sentence is best active version of the- sentence "The
computer disk was damaged by electric shock"?
(A) Someone damaged the computer disk.
(B) The computer disk has been damages by the electric shock.
(C) The electric shock damaged the computer disk.
(D) - Due to electric shock, the computer disk was damaged. ‘.

13.  Which one is the correct English expression?
~ (A) John has been collecting stamps since 1996,
(B) John collected stamps since 1996,
(C) John had collected stamps since 1996,
(D) Since 1996, John was collecting stamps.

ﬁwmﬁ‘aﬁgﬁmmﬁ



14.  Which prepﬁsition completes the sentence "1 expect a lot of guest
Christmas. ' -
(A) in _(B) at
(C) on (D) for
15.  Which alternative completes the sentence "Last year, we visited
_____ St. Paul Cathedral in Vienna?

(A) that - ) (B) the
€ a : (D) none
¢

" : Set-2 - Sample Questions

Read the passage below and answer the question that follow:
Passage 1
Hibernation

Hibernation is one the main adaptations that allow certain northern animals to
survive long, cold winters. Hibernation is like a very deep sleep that allows animals to
save their energy when there is little or no food available. The body functions to ‘true
‘ibernators’ go through several changes while they are hibernating. Body temperature
drops, and the heart rate slows. For example, a2 hibemnating woodchuck's” body
temperature drops by more than 30 degrees Celsius, and its heart rate slows from 80
to 4 beats per minute! Other true hibernators include the jumping mouse, little brown
bat, eastern chipmunk and several ground squirrels. Other animals, such as the skunk
and raccoon, are not considered true hibernators, as they wake up in the winter to
feed, and their body functions do not change as much. Since they only sleep for a little
bit at a time, the term dormancy or ‘light slecping’ is used to describe their behavior.
The largest animals to hibernate are bears. Their heart rate may slow down from a
usual 40-50 beats per minute to 8-12 beats-per minute, but their body temperature

changes very little, so they are able to wake up quickly. :

Hibernating animals have a special substance in the blood called hibernation
inducement trigger, or HIT. This substance becomes active in the fall, when the
days become cooler and shorter. When HIT becomes active, the animals start
preparing for winter. Some animals store food so that they can eat when they wake up,
and some animals eat a lot in late’summer and fall to add excess fat to their bodies.
this fat keeps them warmer and acts as a sourch of energy while they are sleeping.
Some animals also make changes to the place where they will sleep (dens). They add
leaves and grasses to keep them warm. ’

waﬁ@mqm.mwmﬁm-ams



Question: - ' - 5x1=5
Choose the correct alternative. '

Why do animals hibernate ?

{A) Animals hibernate to survive long.

(B) Animals hibernate to adapt to the temperature.

(C) Animals hibernate to save energy during the winter when there is little
food for them to eat.

(D)  Animals hibernate to take a deep uninterrupted sleep.

What changes occur in the functions of an animal's body when it

_ hibernates ? . ] _
(A) ~An animal's body temperature and its heart beat rise when it is
hibernating, ‘
(B)  An animal's body temperature drops and its heart beat quickens when it
is hibemnating. I

(C) An animal's body temperature drops and its heart beat slows when it is

hibernating.

(D) An animal’s body temperature ‘drops and its heart beat remain constant
when it is hibernating.

Why are raccoons and skunks not ‘true hibernators® ?

(A) Because they wake up in the winter to ear. Additionally, the changes in’
the functions of their bodies aren’t as great, ’

(B) Because they sleep for a little bit of time only.

(C) Because they do not wake up in winter to feed.

(D) Because they feel hungry and get only light slecp.

When does HIT become active ? . )

(A) HIT becomes active whenever the days become cooler and shorter. -

(B) HIT becomes active when the hibernating animals feel cold and are
short of food. - '

(C) HIT becomes active when winter is in the full swing,

(D) HIT becomes active in the fall, when the days are shorter and the
temperature cooler.

How do animals prepare for hibernation ?

(A) . To prepare for hibernation, animals store food, eat a lot to add excess fat
to their bodies and add leaves and grasses to their dens to keep them
warm while they sleep.

(B) To prepare” for hibernation, animals store food and gather leaves and
grasses to their dens to keep then warm while they sleep.

(C) To prepare for hibernation, animals store food and eat a lot to add
excess fat to their bodies. : !

(D) To prepare for hibernation, animals eat a lot to add excess fat to their
bodies and add leaves and grasses to their dens to keep them warm
while they sleep. i )

%am'mmma



Vocabulary Question: Tx1=7
6. One who owns, enjoys and controls anything as property is a

(A) Lyric (B) Ruler
(C) Possessor L (D) Politician
7. "Discolor" literally means
(A) To give a wrong impression (B) Tostain
(C) To mix many colors (D) To displace
8. What is it to give a formal public speech?
(A) To guzzle A (B) Toorate
(C) To proceed (D) To mumble
9. something is not working normally, it is called
(A) " Unfunctional (B) Functional
(C) Dysfunctional (D) Malfunctional
10. "Darkness" does not g0 together with .
(A) Dimness (B) Brightness '
(C) Drabness . y (D) Murkiness _
Syntactic Ability Question: 5x2=10

Choose the correct alternative (the right word, phrase or clause) to
complete the following conversation. '
11.  Lhave trouble ....ccee.
(A) to remember my password
(B) to remembering my password
(C) remembering my password
(D) remember my password
12. The board meeting was held ...
(A)" atTuesday , (B) on Tuesday
(C) from Tuesday g (D) - in Tuesday
13. They will lose their reputation, ...
(A) ifthey do not replace the damaged product.
(B) if they did not replaced the damaged product.
(C) ifthey have replaced the damaged product.
(D) if they are replacing the damaged product.
* 14. Neither the manager nor the assistants...
(A) knows how the office building caught fire.
(B) know how the office building caught fire.
(C) have known how the office building caught fire.
(D) were knowing how the office building caught fire.

15. They had better ............. . They are becoming weaker and weaker day by
iy, ;
(A) Stop smoking (B) Stopped smoking

(C)~ Stopping to smoke ; (D) to stop smoking

waﬁﬁaw.mmmm-wa



VTR QoI
Governance System

fadtg o _
AT UEE

Section (A) - 10 Marks x 3 Questions = 30 Marks

AEH TR T T HHRY weT e ferdivares
3T THRR | ' 7

Clarifying the concept of governance, mention its fundamental aspects
as well as features, '

mmwwmwmwﬁ
TRERITTH i eoE T | :

Discuss the contribﬁtion_ of transparency in strengthening the Right o
Information and also mention the limitation of transparency.

mmmmmm:mmm '

mmmmﬁmmmwnﬁm

Mention the scope of National Security Management. Briefly

- comment on the prevailing provisions of the national security of

Nepal.

Section (B) - 10 Marks x 2 Quéstions =20 Marks

- 7
Mentioning the sources of law, present the process of law formulation
in Nepal.

mmﬁtww@;%aw?ﬁmﬁwr

'Wﬁﬁaﬁmmﬁ#@mﬁ@?mnﬁm

What do you understand by democratic value and norm ? How are
such values and norms practiced in Nepal ? Mention,

T FRfafey Sy w5
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Section (C) - 10 Marks x 3 Questions = 30 Marks

e AATE ST SeE T | W Y e
e qewed Owifem  qeem,  Wieed, ORRRiAr T
SR 39 Y T Y S SR S T
e |

Mention the concept of public service delivery. State your own view in
the context of the saying that there is the vital role of political
neutrality, commitment, transparency and accountability to make
public service delivery effective. -

mmmmmn@m

Mention the major functions of public management.

mmﬁmﬁmﬁammmw

TR _ ,
Defining public policy, present the process how public policy is
formulated. ’ - . :

‘Section (D) - 10 Marks X 2 Questions = 20 Marks

T U SR Y@ SEEEE W =l TR, |
Briefly discuss the major dimensions of human resource management,

Wmmﬁm@m'ﬁmm

e SIS A S S SHeTe, |

Mentioning the major features of baﬂicipatorjr planning, present the
status of the practice of participatory planning in the development
administration of Nepal.

@
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Contemporary Issues
EGiRRE]
AT WIAEE
Section (A) - 10 Marks x 3 Questions = 30 Marks
TR0 W w mﬁa TR vﬁf TFERTEE T
THRIHF JHITEE oG THeR |

~ Mention the positive and negative effects of conﬂxct in social and
cultural transformation,

mmmamwmmmﬁl"wm@
ST YROT I8 Y |

“Corruption is the great enemy of social justice and equahty" Clearly
present your view in this regard.

GG A S we 9 freme g
w@wwmmﬁméﬁa@mmmm
TR |

Clearly spell out the concept of "food sovereignty", and also mention
the major hindrances of the healthy and convenient supply of food
- materials in developing countries.

Section (B) - 10 Marks x 2 Questions =20 Marks

ﬁaﬁ@q&awﬁ%wﬁfﬁf‘aﬁmﬂwwﬁmmaﬁ
foa=m e |

Discuss the role of the co-operative sector in the economic
development of developing nations.

m:mmmmmawm
FUEHRT ITEE Ied THE |

Clearly present _the interrclationship  between poverty and
unemployment and suggest the ‘effective measures for minimizing
both of them. :

i el S W
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Section (C) - 10 Marks x 3 Questions = 30 Marks

T faRTE EHEEE Seod e | 1) grfaes s
Frerrae T T e A @ v e 1 TR
Write down the human development indicators and also justify that
human is both the means and cnds of the social- cconomic
development. ; :
W T 5 TS T STy deewen e e '
) ) | , .
Briefly discuss the fundamental clements of peace and conflict
sensitive development. 7
T S T yE s sitearse T s
Ty e siifad IeoE TR | - :

identifying the main- characteristics of community based development,
justify the rationale of such kind of development in rural development.

Section (D) - 10 Marks x 2 Questions = 20 Marks

Wmu&@maﬁw@mwgm
IYRE IO TR | ' ;

Identify the major factors responsible for environmental degradation
and also mention the effective measures for their control. ;

forug ST 31 IeoE TR | foe, eI FHTER

TARA g JERedl A 9 SFg o 2 ST "R
SERH | AL

Mention the rrieaning of disaster management. In your opinion, what
factors should be taken in consideration to make disaster management
effective 7 \

r
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- QXT6T Wdge
' BT .
mmm,@mmmmrm,mmwu}
T TS Yo TR TRt fofa i '

R080/%0/3Y
- WHg:R v 3 fifde

TR FEIH (200 x3 =300 3HF)

Part (A) - General Awareness. (60%2) =120 Marks
1. ﬁﬁammmﬁwuﬂmﬁawﬁ;ﬁm I

(F) fomu s gy (@) e S gfuedt

(M) =T R frw (=) 5% 7=

Who is the first black person to be awarded the Noble Peace

Prizes?

(A) Bishop Desmond Tute (B) Albert John Luthli

(C) Martin Luther King ° (D) Ralph Bunch

2. oy aozxaﬁa&aﬂam@aaﬁm@a ?
() Teeos ot (Waes g avifan) (@)mmeary (ST9)

() ATRR (FFT) (=) (B9)
Where is Going to be held the February 2014 winter Olympics
(A) Salt Lake city (USA) (B) Sapporo (Japan)
(C) Vancouver (Canada) (D) Sochi (Russia)
3. U TERS S e fifisr s femd mdw=r afseot
AR ? ; '-
(%) TG T& (@) N-wEgrE
(M) ' ws () s

On the basis of date of declaration, which national park of Nepal
is the latest are on? 2

(A) Makalu Barun (B) Shey-fokshundo

(C) Khaptad (D) Banke

TR FPuRy e 1



AT A TG FAE ?

() SThicsH ARENR (@) eI HEHIR
(M) f&= HerTR (91) 3% FEETR
Which of the Deepest Ocean ? :

(A) “The Arctic Ocean (B) The pacific Ocean
(C) The Indian Occan (D) The Arcmic Ocean
e a2 :

(=) A= A (@) 3T FH TR
() fow g, _ (¥1) I=4 AITHA W
Why does not rain fall in desert ?

(A) Low pressure . (B) Low.humidity

(C) High wind velocity (D) High temperature
favam 5 wer Prfm Wt v fafeed 7

() TSt (@) T

(m) sferE (91) ISH TR
Which city was known as the 'Forbidden City' ?

(A) Kathmandu (B) Lhasa

(C) Beijing (D) Ulan bator
AvreRt wAYRT g9 Tt 1 @ ?

(%) oFTE (@) T

() "G : (N T4

Which is the biggest glacier in Nepal ?

(A) Langtang (B) Makalu

(C) Manaslu (D) Khumbu

&, s, fryet T A freoes e wEv=n 7@ feomsdn
fomr vitae MeerRE T F T

(%) gda (@) fayet 7o

(M) gEF I T TEEe (%) e T ARE vewe

" Out of the four districts-Surkhet, Jajarkot, Sindhuli and Morang,
which share boundaries with the maximum number of Nepalese
districts ?

(A) Surkhetonly . (B) Sindhuli only
(C) Each of Surkhet and Jajarkot (D) Each of Sundhuli and Morang

mmm,wm-am'



9. T R HoTH T G 9 @ H 4 O TR

() T TR 3vs R B |

(@) Fures! yataeig fafayar sEE o )

(1) 9IS T3 Tectonic fault Zone W T |

#) %) dfes @) fow ) afss

@) ¥) fowma) dfewm) o
.M =) feww) I T) afw

%) w4 faw

Which one is the nght answer with respect to the following
statement ?

a.  Nepai has cool temperate climate

b.  Nepal's eco-diversity is unique -

¢.  Nepal has one layer of tectonic fault zone

(A) aisright, bis right, c is wrong

(B) - aisright, b is wrong, c is right

(C) aisright, bisright, c is wrong

(D) all are correct

m._mmumaﬁammmwmw
IR BRI |
e 2 iy WER
(a) T+t ey g, SN
(B) HrT TRy R. WRA UIfHEH
(©) . 9 TEYfH 3. THEAEE

(D) HEHA | . T
(A) a4,b-l,c-2,d-3 - (B) a-1,b-2,c-3,d4
(C) a2, b-3,c4, d-l (D) a-4, b-1, c-3, d-2

1L mwmmmmmm
Fraftafos &1 B9 98 5 ?

(%) U gfaa, anferam, o, et
- (@) feEm, ue, i, g gfem

(1) wm, anfeam, T giem, oils

(%) s, %, 9, U g

Starting from east to west longitude, which of the following order
of geographical location of regional cooperation organization is
correct.

.(A) EU, ASEAN, SAARC, OPEC (B) ASEAN, SAARC, OPEC, EU
(C) - SAARC, ASEAN, EU, OPEC (D) ASEAN, OPEC, SAARC, EU

[¥%] wtw wrrug woem o



12.

13.

14,

15.

oS 7 |
(%) AR S
(@) =Rt

() T Sy

(%) S Stfuea favasard S 9=

Which of the following is constituted as the first written document
of human right in the history of the world ?

(A) The constitution of USA

(B) Magna Carta

{(C) The constitution of France >

(D) The universal declaration of human nght

ikt T viiet e i T wieRf 9 € 7
(%) 91 S - (@) e

(1) Teia fa (¥) HI%Ht S

"Udhauli"” and "Ubhauli" are the 1mportant cultural festwals of

the:
{A) ~ Tharu community (B) Rajbanshi community
(C) Kirat community (D) Majhi community

ﬁa’rﬁﬁm:ﬁﬁfaﬂm R T e WA I FAad I
o sl ?

(%) B - (@) 33

() dfeeEw (=) st

Which ‘Country divided at the end of the Second World War

reunited with the end of the cold war?
(A} France (B) Italy
(C) Belgium (D) Germany

fedtg favages oS TuE 'H{{?E T FARGHE T B
fau ?

(%) THaER TeEee (@) @R T=H

(1) BFHfF ToET (=) fag oo

Who was the president of United States of America at the time of
conclusion of the world war II ? -
(A) Theodore Roosevelt (B) Herry Trueman

(C) Franklin Roosevelt " (D) Widrow Wilson

Waﬁﬁam.mw‘tw-ma



16. AMEWM TUREHITED SEwoR FERT (vfESErR fem wrm)
JEe 1 B T S ?
(A) WHEF g, Hreey fow o, wﬁm T, SiTERIgy
(B) TSR 9191, o AT9T, HIERE AT, SRIgt o

(C) NERIYE T, SEET AT, G e, SHEwigy Ion

(D) HAST We, HFE AT, HIERiEE A1, SEEgt qon

In basis of éhronological order, regarding prime ministers of

Nepal (from early to late), which of the following order is correct?

(A) Bhimsen Thapa, Mathwar Singh Thapa, Fatte Jung Shah, Jung Bahadur
Rana

(B) Bhimsen Thapa. Fatte Jung Shah, Mathwar Singh Thapa Jung Bahadur
Rapa

(C) Mathwar Singh Thapa, Bhimsen Thapa, Fatte Jung Shah, Jung Bahadur
Rana

(D) Fatte Jung Shah, Bhimsen Thapa, Mathwar Singh Thapa, Jung Bahadur
Rana

17. T WIE 4% 91 AfoH D g1 2 TR |

1. ASH Sl 9fe! TgHoR 9R TH 4TS |

2. R T o R s ,

@) 112g@dF (B) 1 3% T 2 S

Too 1@ (D) 195 T 2 I

Select whether the following assertions are correct or incorrect?
I.  First homemade gun of Nepal was called 'Birgun’ .
2. The Birgun was made by Bir Shamser

(A) both | and 2 are correct (B) 1 is correct and 2 is incorrect

(C) both 1 and 2 are incorrect (D) 1isincorrect and 2 is correct

18. JAUGHI WUH 2062/63 W IAE SIS YgHH TsHitas Jom!
A AT W WA HEA P W
(A) Wi Fmior (B) T GAHET
(C) IFingy anfdfes O=FY (D) &E BT
iR Fra=a S SO SR
(A) a)Ted BIHAF W B (B) b)THd B 1 30 Tl B
© oTEABIAI W T (D) d) Tod O T 39 & T

The famous people's movement of 2062/63 was instrumental in
transforming Nepalese political system and governance from the
perspectives of:

(A) Peace building

(B) State restructuring

PR Freluley Jex W 5



20.

2.

22,

(C) International economic relations

(D) Conflict transformation .
Find out which of the following is correct?
(A) a, is wrong, others are right

(B) b, iswrong, others are right

(C) ¢, is wrong, others are right

(D) d, is wrong, others are right

T TR T G W e ?
A) T 39T

(B) T HifHe

() P S afieE T

(D) BETILETT '

What was the function of the Munsi Khana during the Rana
administration? .

(A) revenue coilection (B) foreign affairs

(C) record keeping of civil servants (D) auditing

Afeer TURFHOIS TaaR T FOR e K9 7
(a) Ofgs TOvaRE (B) Sfges GHar

©) ofgs g (D) e WA

Which of the following does women empowerment'emphasise on?

(A) gender mainstreaming (B) gender equity

(C) gender equality (D) all of the above

e TR o B §5E g 7 _

(A) THH = (B) AR HESH HATE
T © EEA D) @ FagEft g A

Who is not member of the constitution council 7
(A) Chief justice - ;

(B) Speaker of the legislative-parliament

(C) Home Minister . '

(D) Leader of the major opposition party

JureR Prate S HH TR e R 2
(A). HaurtR @ @) Ta FEwa Fet
(©) TSt e () gagm ffi Fema

What kind of body is the Election Commission of Nepal?.
(A). Constitutional body

(B) Permanently dependent on executive

(C) Political body

(D) Dependent on Parliament

wqﬁqamw,_mwmﬂm—?m



2. W'A'tw'n'mmmrmmml
EIFA TE 'B'
a. 9Sf@i17¥@ER . - 1. 9 1948 fe@m=w 10
b. AHEH WA T4 afvwr 2. faFH. 2000

c. WS AR Rvasmdh Swon 3. fieer frem gy

d. oF HEE . 4. AHE ATUFR

Match Group 'A’ and 'B’ and choose the correct answer.

Group 'A’ Group 'B' ’ '

" a. - 9t 171llakas - 1. 1948 Dec. 10

b. = Basic rights of the human being 2. B.S.2009

c. Universal declaration of Human Rights. 3. District Devetopmem
Committee

d.  Buch Committee 4. Human Right

(A) 1-3,b4,c-1,d-2 (B) a-4, b-3, c-1,d-2

(C) a-2,b4,c-1,d-3 (D) a-1, b-4, c-3, d-2

24, AvoR! Frem dar IR AREE R e R |

Arrange the order of the percentage of feservafion made in the
civil service of Nepal. ‘

HHEI (Group '1") HHE 11 (Group '1I")
a. G (women) 1522
b, HEEH (madheshi) 2.9

_c. ofed (datit) 3.5
d. UM (disabled) 433
(A) a4,b-1,c-2,d-3 (B) a-3,b-4,¢-1,d-2
© a2,b3,c4,d-1 (D) a4,b-2,¢-1,d-3

25 <irer FroRTeN, T UE S SRR |

WEA' YL 'B'
a. SHATYIYEH TUE 1. uroeh! TfEM, 2019

S D 2. AYIFH! FARA FEaEH, 2063
c. g | 3. USRS GiayE, 2015

HRIE! 4 9o fERrsgen WieE, 2047

[£0] vt sy drex . B



Match the following and choose the correct set of answer.

Group 'A’ Group 'B’

Legislature/parliament Constitution of Nepal, 2019

Rastriya Panchayat - Interim Constitution of Nepal, 2063

ejo|oe.

1

2,
Rastriya Sabha 3. Constitution of Kingdom of Nepal, 2015
Mahashaba 4. Constitution of Kingdom of Nepal, 2047

26.

27.

(A) a-2,b-1,c-4,d-3 : (B) a~4, b-1.¢-2,d-3

(C) a-2,b-1,¢3, d4 (D) a-3, b-1.c-4, d-2 i :
Srefige IRT WA eRR WAV R wa@ Bl
e Sefg ASETEEH WE W B THOR |

() FonmeR, e, fawd, Foar, e

(B) HIGTUSH, FITHI, wered, fawd, dient

(©) WW@,M,WM

(D) TEATERY, HFEH!, FONISH, Areenret, fawdt

~ On the basis of hydroelectricity generation capacity, choose the

correct descending order of the projects in terms of power.
(A) Kali Gandaki, Marshyangdi, Khimti, Kulekhani, Bhote Koshi
(B) Kali Gandaki, Kulekani, Marshyangdi, Khimti, Bote Koshi
(C) Kulekhani, Kali Gandaki, Khimti, Marshyangdi. Bhote Koshi

(D) Marshyangdi, Kulekhani, Kali Gandaki, Bhote Koshi, Khimti

0 fza T giaa Vi Tow T B TfEoer R

(Assertion) T 37O HRU (Reason) e B, vEm e

Sz AR P PrEEEE AT S I AR

WIS (A) TIGHT SATIR W@ (Trade balance) HI = IO Fed

AR MR T T AF. 2069-70 F FHP M FIEA (GDP) Tl T&H

e SAMUR 91 (Trade Dcﬁcit)@@ﬁ'ﬁi

m(R)WFWTWMWﬂmw%QﬁE

1.6/1 A1 TE&T (Pegged) TRATAI B | Y :

@) WIE () T IR ®) G I T T TR ®) T (4) H
IYeh ST (explanation) Gl .

B) WE (A)T TR (R) GH S T T FAU (R) TE (A) I IH
A (ctplanatio_n)?ﬁ‘” '

(C) ¥ATE (A) 3T T T FRU (R) T T |

(D) m(A)mamm(meﬁam |

mmmm,.uﬁmmm-ma



The following question consists of two statements, one Iabelled as

- the Assertion (A) and the another as Reason (R). Examine them

- carefully and select the answer using the codes given below:
Assertion (A): Nepal's trade balance continued to fluctuate abruptly and the
trade deficit reached one third of GDP in FY 2069-70
Reason (R): Nepal currency is pegged to Indian currency at 1.6:1 since
1993,

(A) both A andR are individually true and R is the correct explanation of A.

(B) both A and R are individually truc but R is not trhe correct explauanon
of A.

(C) Aistrue but R is false
(D) A is false but R is true

28.° maﬁm%ﬁqraﬁmaﬁmm
Match the Group I with Group II and choose the correct answer
from the code. :
TR 1 (W) (Institution) g 11 (waifya =)
; (Year of establishment)
a. 9 TZ % (Nepal Rastra Barik) l. 2040 B.S.
b. ftga sar T (Rastriya Bama Sansthan) | 2. 2013 B.S.
c. NI SH Y ‘(Nagarik Lagam Kosh) 3. 2047BS.
{d. - U 9B (Radio Nepal) : (|4 2007 B.S.
(A) a-2,b-1,¢-3,d4 (B) a-3,b-2,c-4, d-1
. (C) a-4,b-3,c-2,d-1 (D) a-1,b-2,¢c-3,d4
.29, wmmmmmmmm
R
(a) 9@ - (B) HE-HETERT
(C) Widg A (D) Tawit -
Which is the first hydropower plant built under private sector
financing ?
(A). Thame ' (B) Madhya Marsyangdi
(C) Pharping £ (D) Khimti
30. mmwwmmaﬁmmm )

i o fufr My 5 2

What is the age limit fixed by Nepal Government for women going
to golf countries for employment ?

(A) 22 years (B) 25 years

(C) 28 years - (D) 30 years

R TPy e WL



31.

32,

33.

34.

3s.

36.

mzdllﬁmmm@mmm
ferga e Y S O I ?

According to the data of the census 2011 what is the percentage of

_ the total household having connection of electricity for lighting?

(A) 533% «(B) 61.2%
(C) 673% (D) 70.2%

mmwmmmw@m?

When Nepal became member of the World Trade Organization?

(A) 24 March 2004 (B) 23 April 2004

(C) 11 October 2003 (D) 18 August 2003

el Siei T form T e T W 2

(A) TR T RS (B). T T FHES

(C) TFOGHA FEA (D) e A SEEAlS
Which is the main gas depleting the ozone layer of the earth?
(A) Sulphur digxide - (B) Carbon dioxide

(C) Chlorofluro carbon (D) Carbon mono oxide

Iqremt STl Sita AR 9 B g T JTIH 9 ?

' What is the estimated annual average temperature increment in

Nepal?
(A)° 0.50°C (B) 0.08°C
(©) 0.05°C (D) 0.04°C

. 2068 F ST AR S TN F TR ?

What is the gender ratio as per the population census of B.S.
20687 : :

(A) 94.06 ' (B) 95.06

(C) 96.16 ‘ (D) 94.16

Hﬁﬁmmuﬂnﬂwwmmﬂﬁﬂmnmm
[ 2R B TS ?

(A) TEHEE (B) HATEEH THEE®

(C) TIRE WTEE (D) wifere T

According to the UN convention of cultural heritage, 1972, which
of the following is included in cultural heritage?

(A) memorials (B) the clusters of bul!dmg

(C) the memorials spots (D) all of the above

.mmﬁmm,ymmm-ma



37 mnwnmmmmmmmw
TR SRR :

WHE I (Group 'T") ) e {Group "I

"a. UNESCO 1. 1983 AD

b. ICIMOD-Nepal 2. 1946 AD

c. Forest Inspection Office-Nepal 3. 1971 AD
" d. Green peace 4. 1934 AD
(A) a-2,b-1,c-4,d-3 (B) a-3,b-2,¢-1,d4
(C) a-1, b-2 c-3,d4 (D) a4,b-2,c1,d-3

38, Wl W BEN

Tl e e srgaR = e s

o WEEmEmgfeRm 0 s T
(A) a)tbm%’fmrmwaiﬁ

(B) a)Tc)'FTB'TE'—[‘{WWHﬁ

© T uH B

(D) a)FﬁTE’TWW.@:{\‘

Find the right answer:

Sustainable development is interpreted as:
a)  Environment friendly development

b)  Job-oriented economic growth

¢)  Futuristic approach

d)  Economic redistribution

(A) ‘aand b are right and others wrong

(B) aand c are right and others wrong

(C) all are right -

(D) aisright and others wrong

39. YR 'I'IVNE 'li'ﬂﬁaw:mw?mmn

TET : R
la.  SET Wt fava weed 1. §7 1983
b. Tova Ry feag & 2. |9 2005
le. TR URTS 3. R Q. smfer
d.  sfedrs 4.5 s

TR Ty ¥ oL f



40.

41.

42.

43.

Match the Group 'I" and "I’ and identify the correct answer from

the codes. .
Group '’ . Group'II'

2. World summit on Environment [ 1. 1983 AD

b. . World Environment Day 2. 2005 AD

¢.  Kyoto protocol % 3. Rio-de Janerio

d. ICIMOD 14 June §
(A) a-3,b-4,c-2,dl (B) a4,b-3,c-1,d-2
FC) a-2,b-4,c-1,d-3 : (D) a-1b-4,c-3,d-2
i e & S ST 1S ?

Ay - Foedta! SME ST

(B) TEHEl Id SIS

©) AT BT TR BT

©) AT BT FEE W M -

In which of the following functions, ceramics is used ?
(A) toconstruct the electric materials

(B) to construct the artificial tooth

(C) for the purpose of Aand B

(D) not used for the purpose of A and B

frie T8 Fea 1o H1 9 ?
(A) Sgdl (B) IS
© T : (D) TG
Which is the main raw materials of cement ?
- (A) sand (B) wood
(C) soil (D) limestone
Yo g e feam 1 e T ?
(a) T L T C (B) #TETI R TR
(C) sk T (D) e ¢ T
Which day is observed the Naﬁbnal Science Day in Nepal ?
(A) Baisakh1 ° (B) Shrawan I
(C) Kartik 1 (D) Ashwin 1
e F S RS AHS e T 2
(A) TEEH ®) TEEEE )
© Taefe (D) FiFEm

maﬁ@mﬂ.mﬁﬁ—mg
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Which of the following is invented by Alfred Nobel ?
(A) atom bomb (B) dynamite
(C) giletine (D) wuranium -

4. e PreTR e AYRAT T IR SR |

Choose the correct answer from the codes matching the Group;

THE 'I' (Group I) IR I (Group 1)
a. hAee o (contact lens) I. @8 G (Luis Pasture)
b, TR (x-ray) - |2. B sfes (Fredrick Bennng)
c. Q?'ﬁra?{ i (antirabies | 3 Qéﬁﬁﬁﬁ (A.E. Fink)
vaccine) .
d. 9 (insulin) ‘ 4. TafeT™ =M (William Roentgen)
a b c d
(A) 3 4 1 2
B) 1 2 . | 4
) 3 1 4 2
(D) 2 3 1 4

45.  WE TP (T9) TWE W' (WEE yWow E5m) o S freRTE T
ST W I DR |
WET () W (e v )

a. IEfE 1. AR e
b. A 2. U g
c. Hfegy : 3. UTast feriraifaa e

Match Group 'I' (element) and Group 'II' (function of the human
body) and choose the correct answer from the codes given below:

Group 'I' (element) Group 'II' (the function of the
human body)
a. lodine 1. Contraction of the muscles
b. Iron 2. Formation of thyroxin
c.  Calcium > | 3. Formation of blood hemoglobm
a b c d
(A) 3 4 1 2
-(B) 1 2 3 4
) 3 1 4 2
(D) 2 3 1 4

T Frefaldg ¥ W1 B



46.

47.

48.

- 49,

50.

3% ¥ TR | , ‘

1 mﬂmmmmﬁmw“@faﬁI
5 st vE T o] T W T SR |

) @IF B) @ afsw

(©) 13 293 . (D) 13f® 2F

Identify whether the following statements are correct or incorrect:
1.  The great scientist Sir Isaac Newton was born in Britain. )
2. The first person to land in the space in from United States of America.

(A) Both correct (B) both incorrect

(C) 1 correctand 2 incorrect (D) 1 incorrect and 2 correct
T frer e TiaEE AVCH T 1 9 7

(a) e (B) I T FEREH
() FH (D) =M

Which of the following country is not an observer at the SAARC
Summit ? '

(A) Australia (B) USA

(C) Russia ' ; (D) . China °

BIMSTEC m_miﬁﬁ? st wow vaw W o ?

When did Nepal formally joined BIMSETC ?

(A) December 1998 (B) December 2003

(C) February 2004 . (D) July2004

T T W T WS TR G F e
CWE? ‘

(o) Y AE (B) TMIEE WETE

(© e iR (D) FHoE T

Who of the following is the Nepali citizen, has worked as the
Assistant General Secretary of the General Assembly of the UNO
2 s

(A) Rishikcsfl Shah . (B) Durga Prasad Bhattarai

(C) .thj Raj Ghimire (D) Kulchandra Gautam

Iqre aae e gt Hiee v R ?

When was the Sugauli treaty between Nepal and India signed?
(A) 1815March 1 (B) 1917 April 1

(C) 1816 June 4 (D) 1816 March3

mmﬁm,mmm-ma



51. mmmmxwﬁmmmww
Torre Fegai '
b mlmﬁmwssmmmmmma:
2, mﬁwﬁmmmmmmw

Gl .
A 172q@ 9% | ® sz.gﬂa'cﬁEF;
€) 13fsm T 23w - (D) 13F R 235

Read the following statements carefully and choose correct

alternative given below: )

. Nepal became member country of United Nations Organization on 14
December 1995.

2. First international organization of which Nepal became a member is
United Nations Orgamzatmn

(A) I and 2 both true (B) 1 and 2 both false
. (C) 1 false and 2 true (D) 1 true and 2 false
52.° wnmuaﬁmmﬁmﬁmmwm
ST WET I D=«

Choose the correct answer from the following codes in order to
appropriately make the Grope I with the Group II:

WIE I (GroupI) TIE 11 (Group 1)
a.  JICA 1. WEREAIE (Switzerland)
b.. DFID 2. 9% T IR (Umtcd States of
- ) Amcnca)
¢ USAID 3, SoEg (England)
d.  Helvetas Nepal 4. N9 (Japan)
(A) a-1,b-2,c-3,d4 (B) a-4,b-3,¢-2,d-1
- (C) a-2,b-3,c-4,d-1 (D) a-4,b-2,c-3,d-1
53, o e Wt S wrR
- iR/ faeart w3
a. U UHUH 1. World Meteorological Organization
b. T TIET . |2- International Standards Organization

c. TUER =T * |3~ Transparency International
d. HIE® wfgsqamit 4. UNOCHA

TR FrPaR X W B




Choose the correct match from among the following:

Role/Responsibility Organization
a. Corruption prevention 1. World Meteorological Organization
b. Human Protection 2. International Standards Organization
¢. Quality control 3. Transparency International
d. Weather forecasting 4. UNOCHA ;
(A) a-1,b-2,¢-3,d4 (B) . a-2,b-3, c-4,d-1
(Cy a-3,b-4,c-2,d-1 (D) a-4,b-1,¢-2,d3 ?)
54. el eRgEd |

Match the foilowing : -
TE (Group) I (3®)(Book) | ¥ (Group) Il (W)_(Authoﬂ
a. T%oY (Sankalpa) - . 7T FCERATS (Yogi Naraharinath)
b. 3 YV (Itihans Prakash) | 2. % TR (Jhamak Ghimire)
o oM ST (Adhi Akash) | 3. TIRSTG (Parijat)
d. @ SHS (Jail Journal)) 4, aﬁnﬂ,aﬁlﬁﬁﬂ (B.P. Koirala)

(A) a2,b-1,c-3,d-4 (B) a-l,b-2,c-3,d4
(C) a-3,b-2, c-1,d4 (D) a-4,b-3,c-2, d-1

55. mn_mnmmﬂﬁmﬁmﬁrwf«@aﬁm
Brerd, |

E 1 R Il
© fad. 2008 T UL ARG A | 1., MO 6T
Teetere fayE :
b TR AH A . 2 %, FIRIER el T .
2067 11 Tarqf e AR
o 1 e A eaEe . | 3.9 gadl
2067 1 farsgfisd
4. fad. 2070 TTHE 494 qEEHAT . FEEE YT

‘Choose the correct answer from the following codes in order to
appropriately match the Group I with Group II:

wmmmﬁm-ma



Group 'T' Group 'II'

a.  Decorated with the Rastra| 1. Late Ganesh Man Singh

Gaurab Manpadvi in 2068 B.S. bl ] .
b.  Decorated with the Rastra Deep| 2.Late Girija Prasad Koirala and Late
Manpadvi in 2067 B.S. Man Moh@ Adhikari
Decoratred with the Rastra] 3.Abhi Subed:
Gaurab Manpadvi in 2067 B.S.
d.  Decorated with the Yuga Kabi 4. Former Pfimc. Minister Late Krishna

. Siddhac!'iaran Puraskar 2070 B.S. Prasad Bhattarai
(A) a4, b-1,c-2,d-3 (B) a-1,b-2.¢-3,d4 -

(C) a-3,b-4,c-1,d2 (Dj a-2.b-3.c4,d-1
56. O fIUH wET 9, Ted @ § SRR |
1. S WigH SR e SR S quE B
2. TEREH FAYT WA FOH TG "Duck Weed” I IS |
3. RO ST JEETEE T 2]%0 1 WITH IR A |
4. FRER T FEH FRERE TR awd st aar

EIeTe & | '
() 1315 T 5% TEd _
B) 17123 F 1347 & e u:
© 1L,L2VEFHFFAT47od & gpen W
(D) 1,2T43F T 27T | IR
Assert correct or incorrect with regard to the following . -
statements: ' ;
. The invention of modern toothbrush was inventéd in China.
2. - The smallest flower in the world is "Duck Weed."
3. The first internet website came into application in 1990,
4.  The Indian diplomat arrested and put into legal action is Devyani

Khobragade. ! ’ ’
(A) 1 is correct and others are incorrect.
(B) 1 & 2 are correct and 3 & 4 arc incorrect.

(C) 1,2 & 3 are correct and 4 is incorrect. - £
(D) 1,2 & 4 are correct and 3 is incorrect.

57. = welm sgoE 39 T s ?

(]

(A) T BEE (B) =2 HEH

© e sER (D) 9IS WeEE
Which one of the following is known as "God particle"?
(A) Gauge Phonon "~ (B) Brout Meson

(C) Higs Boson (D) Paul Plasmon’

SR TPy T



58.

59.

60.

61.

62.

Yo S FHeTE G k083 F TEH e swon wRe Rt 2

(A) FAR SH (B) WSS T dF

C) TREFFH (D) TOET AETE d%
Which bank in Nepal was declared ‘Bank of the year 2012° ?
(A) Kumari Bank (B) Standard Chartered Bank
(C) Everest Bank (D) Gilobal IME Bank

=g fog ? .

. ‘When did Sachin Tendulkar,. Indian's world famous cricketer,

retire from all forms of cricket ?

(a) 2013 Nov. 16 : (B) 2014 Jan. |
(C) 2013 Now: 1 Y (D) 2013 Jan. ]
"Long Walk to Freedom" e g e Sl ¥&% W € ?
(A) WERE MR (B) HTSEE el
() o A : (D) TG HUSH 7
Who is the wrtier of the autobiography "Long Walk to
Freedom™"? :
(A) Mahatma Gandhi ~ (B) Aung San Suu Kyi
(C) Tony Blair ‘ (D) Nelson Mandela
Part (B) Aptitude Test (25%2) = 50 Marks
I£10S is coded as LNV, then what would be the code for JRM?
(A) LOP 5 (B) MOP =
{C)' LIP (D) MOW
Find out the alternative that will replace the question mark (?):
- HS JQ LO NM?
(A) 1 : (B) OP
(C) KP (D) PK

In the following find out the alternative which will replace the
question mark. (7)

- Line: Square: Arc: ?

(A) Ring : " (B) Sphere

(C) Circle (D) Ball

Ina queen, Mr. X is twentieth position from the front and Mr. Y
is Twenty-one position from the end, while Mr. Z is exactly in
between Mr. X and Mr. Y. If Mr. X is ahead of Mr. Y and there
are 50 persons in the queen, how many persons are there between
Mr. X and Mr. Z? 7

a) 8 (B) 5

< 4 (D) 3

-WWW.HWW;MS =



65.  Direction: In the following, two statement | & II are given. There
may be cause and effect relationship between these. Read both
. statements and answer as:
(A) If stafement [ is the cause and statement ] is its effect.
(B) Ifstatement I1 is cause and statement ] is its cffoct.
(C) Ifboth the statements I and 1] are independent causes.
(D) Ifboth the statements 1 and II are effects of independent causes.
Statements:
L. A huge truck overturned on the middle of the road last night.
Il The police had cordoned of entire area in the locality this mominé for
half of the day. i '
66.  Which figure should replace the question mark?

VB B K

(A) (B) - © (D) ,
67.  Choose the correct water image of the given figure (X) from

amongst the four alternatives. : -
/ w A /
AN NED
® . © (D)

X) (A)
68.  Select the figure which satisfies the same cenditions of placement

of the dots as in Figure - X,

'./é)" @_( PN >@>

=

x) . (A) B ©

69.  Choose the figure which different from the rest.

=YIES

(A) (B) ©) (D)

mmﬁﬁwﬁmﬁs




70.

1.

12

73.

74,

75.

76.

What is the maximum number of triangles in the given figure?

(A) 18 © (B) 20
(C) 24 (D) 27
A shopkeeper fills a basket with eggs n a-way that the number of
eggs added on each successive day is the same as-the number
already present in the basket. This way the basket gets compleie!y
filled in 24 days. After how many days the basket was one eight

(1/8) full?
Aa) 21 (B) 12
(C) 6 (D) 4

The total of the ages of Akbar, Amar, Amir and Arjun is 80 };ears.
What was the total of their ages three years ago?

(A) 66 years : . " (B) 68 years

(C) 71 years 5 (D) 77 years

What number should replace thé question mark?

(&) 11 IH 7 (B) 12

) 22 5 (D) 33

On taking delivery of a consignment of eggs the market stall
owner was furious to find that several were cracked. In fact, on
counting them up in order to assess the damage he found that 72
were cracked, which was 12 percent of the total consignment. How
many eggs in total were in the consignment?

(A) 550 (B) 575

(C) 600 (D) 625

What number should replace the question mark?
17, 4,29, 13, 41,22, 53,31,? '

(A) 39 (B) 64
(C) 65 o 7
The sum of first five prime numbers is:

(a) 11 - (B) 18
(C) 26 ‘ E (D) 28

maﬁ@m,mﬁmm-wa



78

78.

79.

80.

81.

82.

83.

How many steps to the top of the Lharara? Asked the tourist '196
steps plus half the number of steps’ replied the guide. How many
steps are there to the top of the Dharara?

(A) 392 steps (B) 294 steps
(C) - 496 steps (D) 398 steps
What is missing number?

(A) 6 B) 3
€ 7 (D) 9
Circle indicates 'strong’, square indicates 'tall'’ and triangle
'football players.’ The strong 'football Pplayers’ . who are not tall
are shown :

(A) 4 ®B) 3
€y s (D) 6
Of three part-time employees, Manoj works Ionger hours than
Fanindra, and Bishal works longer hours than Manoj. In this
context which one of the following is correct?

A.  Manoj works the longest of all.

B.  Fanindra works the longest of-all.

C.  Bishal works the longest of all.

D.  both Fanindra and Manoj work longer than'Bishal.

Directions for the following 5 (five) items: Study the table given below
and answer the five items that follows: 1

Four students W, X, Y, Z appeared in four papers; I, II, Il and IV in ‘
a test. Their scores out of 50 are given below in the table. Where "A’ stands of -
absent.

Papers
Homlents 1 AN
W 30 | 23 | 26 | A
X 31 | 42 | 22 |28
Y 36 | 38 | A |34
Z 38 | A |35 |32

Which candidate has” secured between 60-65% marks in
aggregate 7

A) W B) X

© Y : (D) Z

Who has obtained the lowest average in aggregate 7
(A) W B) X

©y ¥ - ; (D) Z

Who has obtained the highest average in aggregate ?
Ay W . B X

© Y D) z

TR TP Y .





